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EXERCQSE

SIMPLE RATIO AnND RECIPES

TJack and Till share £40 in Ehe ratio 3:2 res,oe.d'wgln,

How much cloes each of Ehem rcce.we.?

Sam and Tow SLwe Seme Mon&*a in Ehe rabis 4:3,

| Sam receives {z_+) how much does Tom veceive 7

A'4h) B,’” ard Cahn sl\qle éZ{- In the ratioc §:3:2,

How wmuch does each ba\3 receive ?

On o $choal L’nP) the ratio of Leachers Eo tudents

was |16, | Ehere were 140 pesple albogether on the

bn‘p) how ma.-ul were tuckefg?

A P‘\ece of wood 27em 'ont\ is cot inte 2 PI‘EC.E.S

in Ehe vakio T:2, How Iahi is each piece ?

Or‘omﬁt FIZ'L 1€ made from Lemomde and Froit TJuice
n Eke ratio 7:3. _T_-F Some Omnﬁa Fizz (_ahé'auv\s

3§c,' O‘€ L&mohaxa/ kom Muc.Lu Ffuft 'Su;¢< SLoul/ .'t coh(,’g.iu.?

T A pizza ha¢ c.l«e.es¢) EDPP;“Q and douc\\l« in Ehe
ratio 2:3:€C. T4 it hag 401 of ckeese) how mouch

(:ololoim3 cmt/' L\ow n-\uc.L\ dauﬁk s‘«ould ”.’ ‘»\mue?
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SINPLE RATIO AND REQIPES ExEreisE

In.—avedit.n’és for poached Pe“d‘“ £or 6 peaple
\2 peaches
1400 m| wWater |
lZOe\) Suqas

What inaredichérg are reiu\red ko catesr for 9 ,u.,ola?

Iht]red;cn'l:-( —\[or ‘{GO ml of ¢us+a/v‘

400 ml wmilk
q - €44 '
S'()r3 gu§ar

2 Eusifoo«Sa‘F corn€lovt

Wor ke out tle .\V\ﬁ(editvf‘_‘ ftdbu‘tred Lor 2000 m| o€ costard

Inﬂrcdienés £or 4 yerkshice pudeings
60 ml  milk
106 i weber
80¢ A£lour
| teapoon salt
1 eqqs
Work ovt Ehe I.hjredic.—f{'s for 10 yorkshire pvdledings

L)
LA
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SIMPLE RATIO AND RECIPES

EXErRCISE
£ 40 re/:rcsen{'s 3+2 = § shares
| share = £ao = £8
N
Tack recewes 3 x £8 = £24
Til] veceives 2 x£8 = £ 16
Sam receives £24 which is 4 shaves
So | share = €24 - £6
4
Tom recewes 3 ghases = 3Ixfe = £18
£24 represehﬂ C+3I+2 = /0 ghares
o | share = £2¢ = £2.¢0
10
Alan recewet § x £2.40 = £12.00
Bil] receives 3 x £2.40 = £ 7.20
Colin  receives 2 x£2.40 = £ 4.80

‘ Par{' L—uckels ) é )ot..rés S'l'uale.\ég
|+L = 77 P“’(" 4’-&46¢&A¢f
T parts = /40 people

| P“{. - _)ﬁ__? - 20 Peo'ofe
=

I part Eeachers so 20 Eeachers




SINPLE RATIO AND REC(FPES ExXErRcISE
27 em represests T+2 = 49 parky
| pact = 27¢m : dem
g
Pieces are 223 = Cem
ard  Tx3 T 2lecm
b Lemomsde = 7 packs
So 7 parke = el
$o [ pare = 3Sel = Sel
S =
Frub TJuice = 7 Pacés |
) Frot Jviee = 3Ix§ = 1Sl
7. Cheese = 2 parks
So 2 parks = 4—03
So | part = 404 - 204
- 2
tapp;hj = 3 parkg = 3Ix20 = 603

S p«tés T $x20 = |003

douxk

€. Hor | person <6

Ehen for G pesple X 4
| So X % l«l"\l‘C—L\ cancels  &o 1 4

A
2
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EXEBRCISE

SIMPLE RATIO ARNY RECIPES

Peackes |12 =2 =& . &x3 = 73‘3 pesches

wWa bes 400 =2 :700 Fooxy T 2100 m| wates

Sugas 36 =2 = &€ 6§x3 = la5q  gugar

Aléumh'\.e h\e’t‘kbdl q fs one ard a bal€ |ots ot b

So add on half of original quantities

12 +¢ = IT pescher
400 +700 = 2100 m| waber

126 + 6¢ - l"fﬂ Su&«r

for |l of costurd = foo
ten For 2000 m| of costrrd X 2000
Se x 2000 which  cancels te x 4
Sbo [
400 v\ Wk 4box 4 = 16oo ml wilk
3 eq5¢ 3 e = 12 e44S

§o 4 Sugar o x 4 = 200 q Svgar

)4 t(MPoo“‘S corn€lour

W

2 &“‘f’»“.{ corn€ lour Z “w 4

A‘fﬁrm"ivall) we could rea“s.g Ehet Z.600 m ;S S."‘P"J
4. b'hci tlnk. or;ﬁ'l““( (ao w\') and  So mulé‘;‘flj &l ke

Oﬁ%inu‘ 1.,«#4—?(—:!: 53 4—_
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SIMPLE RATi6 AWND RECI1p£g

for | 30/“({[\;(2 /)uddf.,j = 4
Ehen For 10 !3or‘<sk;re_ pudd,',..jg X 10

So x 10 which  ¢cancels
4

milbe LO+2 =% 30x§ =

wabter |06 =2 = <o Sox§ =

£lour o +2 =406 4ox§ =
s«'e ( , '."2, = t -ZL)‘S- -
€44 2 T2 = | Ix¢ =

@

ExXEBRCISE
& xS

2.
’S-O hl h(“’(

250 m| we Cer
200 o Llovr

2% Ceaspoans Salt

S €45

A'é.(rhl;l"lv-e'j ) e could Y‘E&II'S'C.

Ehe bt 10 1¢ Ewo

and a ha€ lots of 4 We could doulble Ene

0(‘:30‘—\4.‘ 10&*\'&‘0@05&( 'd(hb( Ehen qd A

Df;ﬁinn‘ 10«».4:;4:(-(&‘.

L0 milk 120 + 36 =
100 nl vter 200 +§0 =
203 £ lovr lLo+40 =
| feagpoon $alt 2 +4% =
2 eqqs 4. + | =

Agﬂ:r\) 6otl‘\ M‘\Qtl\ods S‘\ou'ﬂ( 3;\11

J
1

hal € o€ He

1CO ml millke
250 wnl  water
200 1 £lour

2%  Teaspoons salk
S oeqgs

Same canfwers




